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PAPER -1

Note : ¢ This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.

* Candidate is expected to answer any Fifty (50) questions.
* In case more than Fifty (50) questions are attempted, only the first Fifty (50) guestions

will be evaluated. . "
1)
\ / ’ /
1.  Which of the following is the highest level of cognitive ability ? r., ' . r,
(1) Knowing (2) Understanding (3) Analysing (4)." Evaluating
B
Y
2. Which of the following factors does not impact teaching ? ( s "-_- F
(1) Teacher’s knowledge . ) i ‘
(2) Class room activities that encourage leaghing
(3)  Socio-economic background of teachers and students
(4) Learning through experience

3.  Which of the following statements qho t teaching aicr'm correct ?
(a) They help in retaining Concep orlonger duration

(b)  They help students lear {

() They make teaching leur ing process interesting.

(d) They enhance rotei ]Earmng

Select the correct ansyer ffom the codes given below :

(D@M@m%f (2) (a), (b) and (0

(»@@4@ - (4) (), (b) and (d)

a4 . ‘\\%

4. Techniques used by a teacher to teach include :

a Lecture

Interactlv lecture
Group w:;k

Self stud,
Sel t the correct answer from the codes given below :
b) and (c (2) (a), (b), (c) and (d)
(&@@mw (4) (@), (b)and (d)
o JARHHMNIRRAN :
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fder: o 3T T H WIS (60) TE-fawed ™ uv €1 Tw Y9 F q (2) 3 ¥
o 3ol o) g WY TR (50) T % IW A T

o Ifc TeImd (50) ¥ A e % S G391 9Uw v (50) YA g S WA ’

‘g

1. it § & T el S o S w2 _,( ‘) |

(1) @ (@) o wwn @) r‘w 5
2. freifea # @ F9-w 9 e i genfod T& a2 v kX

(1) foerw w199 ) -i 145 F

(2) wen &1 U fafafEl S Hen w dofed B § ‘} 3 {¢

(3) Toereni iR faenfofai =t RS- smfee .

(4) STI9E g i@ ﬁ\ Z
3. Toreror v wmh & 9n # fefated § @ F0-9 S @EE €2

(a) & HHTIA YRV FI Al FHI T, @A 4 A g

(b) o fomnfefai 1 o=t e @ T’g‘ﬁw%n

(c) o foreror i srferm whea S & |

(d) o TR TG HI GHATR g <t

<9 e el @ et v o

(1) (@), (b), R (@) “: 2 (@), (b) I (o)

3) (b), (o) jﬁj(d) ) 4) (), (b) 3R (d)
4. (:ﬁw gm SATIH IYGIT 1 S 9Tl qehish | M § -

(a) =AM

) FIREAER TG AT

(o) wfe

d) T

:ﬁ%[* el | T IR BT =TI HIT

W @, )R 2 (@), () () ()

(3) (b)) () 4 (@), (b) R (d)
oo [ ARDAAI AR ;
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5.  Achievement tests are commonly used for the purpose of :
(1) Making selections for a specific job
(2)  Selecting candidates for a course
(3) Identifying strengths and weaknesses of learners
(4)

Assessing the amount of learning after teaching

6. A good teacher is one who : %2 - ;‘ )
(1) gives useful information r‘l 1 " r
(2) explains concepts and principles - . |
(3) gives printed notes to students < ‘.: 'i y 4
(4) inspires students to learn ?1 ‘.\‘ ( ‘ L
») ) )
7. Which of the following statements regardingfthe mganing of research are correct ?

(a) Research refers to a series of systematig activity or activities undertaken to find out the
solution of a problem.

(b) It is a systematic, logical and an unbiased proce d('ein verification of hypothesis,
data analysis, interpretation affd Qrmation of pfinciples can be done.

(c) Itis an intellectual enquiryior uest towards tr_‘uth.

(d) It leads to enhancement‘}‘ knowledge.

Select the correct answeg £ oTn the codes given below :

(1) (a), (b) and (C)"i " (2)  (b), (¢) and (d)

(3) (@), (c) and (d) (¢ (4) (@) (b), (c) and (d)
. il

8. .Argood thesis w‘g‘ﬁqﬁjhould involve :
((a) reduction of puhctuation and grammatical errors to a minimum.

(b) .careful checking of references.

N

well written abstract.

T
(c) /7 consistency in the way the thesis is written.
(d} aclear.a

Selegt the correct answer from the codes given below :

(1) 4 @ (b), (0) and (d) (2)  (a), (b) and (c)
(3) (a), (b) and (d) 4)  (b), (c) and (d)
oo [ HMHRCRMIRITRA ‘
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5.  Sudfsy qdteron g fre # | forass fore e fee s €2
(1) foreht fafire 0 &g =09 &0 & fag
(2) e qreTshy 3g IR % =@ & fag

(3) HIEA el & "o 9 gad Y&l i 9geH & o

(4) Toreror & qeETq WG i A % Jodied & fag

.Y
6. T =31 ek s §, < % -(;;J
(1)  SYAT A < 2| r >
(2) EHheaTIel AR fHEidl Pl T F@ T - .
(3) forenfefet =1 mfi Srem 2§ < ';f_ ‘l"‘
() T e ¥ R e L4 { f
B \

7. 'oqEuE’ WS 1 e & Geiy H frefafed § Q-4 welee €2
(a) SATHY™ 1 AT RS T % FHEMEf T Tl o T Y& &l T Faieed wriwan
31T FAHATH i T I 7|

(b) T8 U afeerd, difcher TR frover wfswan & forad qal k1 UIeTO, STkl 1 favers,
fﬂ@’ﬁﬁoﬁl@qlaﬁ?wﬂlﬁﬂﬁ@%l

(c) I8 TA & Ufa digeh SAra mﬁa%l
d) w@aﬁﬁq@@ﬁ%‘l)f‘

ﬁmﬁ@aﬁ@a@m?wﬁﬁq:

s
1) @) 0 @2 2) () © R
6>w©ﬂ@ | 4) (@), (), () ¥R (d)

g "

&”@ﬁmw% & e & -
((a) form fog ® priieiR =am s eTgfgar |

(b) el 1 WRAHIES Wi |
(c) A7 ¥ ey H fawa |
d) wT= SR e ¥ foran go 9w |

el § GRS H1 = HIfST

M @ o), © R @ 2 (@) (b) ¥R ()
(3)  (a), (b) ¥R (d) (4)  (b), () ¥R (d)
oo ([ HENNONRIRIAR s
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9.  Jean Piaget gave a theory of cognitive development of humans on the basis of his :
(1) Fundamental Research (2) Applied Research

(3)  Action Research (4) Evaluation Research

1

&

10. “Male and female students perform equally well in a numerical aptitude test.” Th statement

indicates a : \} )
(1) research hypothesis (2) null hypothesis ,-r | r
T\
(3) directional hypothesis (4) statls.:lcal hypoth‘si!; AN r
-~ . 1 ¢
S ) I: |

11. The conclusions/findings of which typeJof res€archf cannot be generalized to other
situations ?

(1) Historical Research (2) Descriptive joé'arch

‘
(3) Experimental Research < } ) Causal filomparative Research
V4 "'

-

12.  Which of the following %téps are required to design a questionnaire ?
"

(a) Writing jmary arld‘lé"econdary aims of the study.

4 ”
< (b) ' Review e current literature.
r
((c) Prepare a draft 'of questionnaire.
i

(d) "Revision of the draft.

Select the corregt answer from the codes given below :

(1) .y-(? ) and (c (2) (a), (c) and (d)
(3)  (b), (c) and (d) 4)  (a), (b), (c) and (d)
oo [ HMHRCRMIRITRA :
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9. Frefefad & 9 Frg STHR T R X WA T 1 S g o ?
(1) Hifers g™ (2) SEifTE SEYE
(3) TsharcAs STHN (4) THHRA FATHM
- ‘\
10. Wwaﬁmuﬁwﬁwamwﬁmﬁmﬁwwmhm%l & s fres
g forgrert T ke 7 2 . B
(1) STIeEm wiwe (2) I AR ‘4 "r,,r. ’
<24
(3) fewmems wftheT (4) W@ _h 1,;
11. ﬁmﬁ@aﬁ@%w%ww%vm%!ﬂ\ﬁ fesiferit & wmaTfiga TE fom W
FH 2 _
(1) e s & avhm(aw%
(3) W SraEE™ 11 (4) FROTHF TATRE ATHE
o
12, R o RO e 4 F-4 7 ST ST ) e 67
(a) ST ¥ gt Sﬁ_'{‘fgcﬁqqn Rvd o |
() = '
((c) YATEl
(d) . T
ﬂ'&ﬁn@ﬁ IR T =TI HIT |
WP @ ) 3R () (2 () () 3R (d)
(3) (b, (c) 3 (d) @ (@ (), (© 3R (d)
LI 7
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Read the following passage carefully and answer questions 13 to 18.

Story telling is not in our genes. Neither it is an evolutionary history. It is the essence of what
makes us Human.

Human beings progress by telling stories. One event can result in a great variety of stories
being told about it. Sometimes those stories differ greatly. Which stories are picked up and,repeated
and which ones are dropped and forgotten often determines how we progress. O, istory,
knowledge and understanding are all the collections of the few stories that survive. This ?lu(lies
the stories that we tell each other about the future. And how the future will%utn out gepends
partly, possibly largely, on which stories we collectively choose to believe. r ’ r’

- |

Some stories are designed to spread fear and concern. This is because some gtory-tellers feel
that there is a need to raise some tensions. Some stories are frighten:i , they ape like totemic
warnings : “Fail to act now and we are all doomed.” Then qlere ar¢ stories that indicate that all
will be fine so long as we leave everything upto a few egpétially able adulfs’ Currently, this trend
is being led by those who call themselves “rational o ists”# They tend to claim that it is human
nature to compete and to succeed and also to profit at the expense of others. The rational optimists
however, do not realize how humanity has progrefsed overtinje through'amiable social networks
and how large groups work in less selfishness andfin the p§ocegs accommodate rich and poor, high
and low alike. This aspect in story-telling is considered by ractical Possibles’, who sit between
those who say all is fine and cheerful and be individualiftic in yeur approach to a successful
future, and those who ordain pessimism a&d fear that we d?adeo ed.

i

What the future holds for us is &h? stories we hold! on to and how we act on them.

V4

Answer the following questions™

<14

1 »
13.  Our knowledge is a (‘gllect"(;n of :
(1) all stori?s: that we };ave heard during our life-time
- | some storiegithat we remember
((3) a few stori}‘ét survive
('_) “some impgrtant stories
t

o

14. S

l 4
telling is':
-
(1) dh art (2) a science
(3) in our genes (4) the essence of what makes us human
o [[IRHERIRIEA RN 8
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Frfafaa o= &l e igde ufet 3T 13 € 18 e & U9l o It QT
HATETEA BAR S | 81 8| I8 fTereq e siaerd ot 781 €1 9% 98 d & S 84 AMa oAl ¢ |

TE T A & 71| § W el ¢ | FRet fomia we1 1 9ftoms en & &2 fafay w41 & 9mq
AT €, TSk IR | & hed €1 H-hlt T wertiel o IR SR S g | foRw e b e 8 @ § SR
Y ST ST @ ¢ a0 fome hen i ore faan an 7R e oo s € e sgen g fruifd g & & e
%Y wIfd 11 FUR SR, I SR 9He - 3 9 $ werlal & G € S Siad Wd | 3HHed i
o wnfire & S & wfoe & SR § Th-qEY 1 hed €1 AR qfoe FE g A Sk st Hae:
T Y 3T FHEIEA % 99 R R e & o W T anfes w9 @ fawEm e A 2 )

Fo FHEMTE! dl €2 iR a1 e & faw wé S €1 WW%@%W%WH@%W
F o T2 70 a1 07 1 ST § 1 FS SIS el el €, o SIH =re G;H“l':agl?ﬁﬁ: 4‘%%%@?@

foru @ &0 gareh g & S | s«%ﬂﬁ@ﬂﬁﬁﬁﬁ%ﬁf%?ﬁ%@ﬂﬁ%pﬂﬂﬁﬁﬁ?%%w
F 331 A W@wwﬁ@wwﬁﬁamm%\“@gﬁ{wwwmwwﬁm

3T ST@TE 1 & § i 379 3Teh! ¢ faaiht smmemandt’” shed @l o Je&en 3 § o gfaeayt &3, awa g
it TR F FIWA W A O A W @ R W%a@wﬁaﬁﬁﬁw
g

MM aH-9 o H1E98 | JHad 3 9859 & 99 & TS AN HT HE =JAaH e
H 1w S q9 TR | ot AR el v = FE TS A § | H-am= &
39 g W SATerRiiie wevredl ! g o foha st % HEA gh1 A STIAII & STl I Hed & (6
waﬂa—m%ﬂgm@ﬁg@zwﬁw%@ﬁwﬁ A1 SR A SRR 8
I 1 T A €, o I8 A © 16 8H = S |

gwﬁm%ﬁwﬁwwfSﬁWﬁﬁ@WWmmﬁmhﬁ%

Tt
! GHH
Sl A

ﬁﬁ%‘@ﬂuﬁ%wﬂ@qgi

13. &AW 9H fr=1 & %qngt;%?
(1) o =i T = gHA o797 Sfiae %1l § g B |
SO T T e e e
(3) FT HETAT WA

(4 50 T R |

C )
14. wli‘mﬁwﬁﬁw%?
(1) G el (2) T fomm

(B) FRIEHT (4) T T S gH HMS I §

o [ HMARCAMIRITRA
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15. How the future will turn out to be, depends upon the stories ?
(1) We collectively choose to believe in
(2)  Which are repeatedly narrated
(3)  Designed to spread fear and tension
(4)

4) Designed to make prophecy

16. Rational optimists : 1 - ) ‘ |
(a) Look for opportunities. r \ > r"
(b)  Are sensible and cheerful. - X |
(c)  Are selfishly driven. - 1*|: i; F
Identify the correct answer from the codes given elpv’\_ ( _ ‘ ¢
(1) (@) (b)and () @ @ony * '/
(3) (a) and (b) only (4) f(b) and (c) pnly

17. Humans become less selfish when : /

(1) they work in large groups i /( (2 they listen to %rightening stories
(3) they listen to cheerful storigs } (4) they work in solitude
i

)

-—

18. ‘Practical Possibles’ are ‘hf ones who :

(1) follow Midwa;' athe' (2) are doom-mongers
(3) are self-centred 1 ‘_"' (4) are cheerful and carefree
)
19.  Fffectiveness of unication can be traced from which of the following ?
((a) Attitude sufvey

(b) sPerformange records

B
(0)/F Students jtendance
(d} Selection ©6f communication channel

Selegt the correct answer from the codes given below :

M @ @), ©and @ () (@), (b) and ()
(3) () (0 and (d) (4) (@), (b) and (d)
AR 1
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15. eIl o SR T AR 9ot el g ?
(1) 0 9mfesd &9 9 favard o1 =97 L 2 |
(2) S IR-9R HE A T |
(3) W IR e e & fo fowfua wt S €
(4)  wrer s 3 for Forefd = SR ¥ ‘

<
16. fooet smemEmT T ;J
(a) TFE H % H wd T f‘ d ;
(b) HATIN IR TE @A € -
() T ¥ i 2\ r
g L L (F 1 (}f

: ’ 1
(1) (a), (b) 3R (c) (2) (a)
(3) ke (a) 3R (b) W%W¥ (©)

17. e %9 @eff 29 § 59 ' y.
) IWFEIFTETAE 4 3 oI g |
@)%WMWWWﬁHJ(@aﬁ@mm%
Ji

-—

18. ‘ﬁo—armﬁmw’é%sﬁi{
(1) HEHF R TG G . (2) Tormer =1 S Te 3 9T B €
(3) - Bd IJ_"' (4) T AR JIRETE B R |

e, *

19" f=AfafEd 5§ 9 D
((a) sfgfa wd
(b) F Frome/ Rt
(&) Termfeft = sufeerf
(d) HEIWO HEH AT G

Fel | FE IT H = HIT
0 @ o) © @ 2 (@) (b) ¥R ()
(3)  (b), () R (d) 4) (), (b) ¥R

o [ HMARCAMIRATA m Pt
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20. Assertion (A) : Formal communication tends to be fast and flexible.

Reason (R) : Formal communication is a systematic and orderly flow of information.

(1) Both (A) and (R) are correct and (R) is correct explanation of (A)

(2) Both (A) and (R) are correct, but (R) is not correct explanation of (A)
(3)  (A) is correct but, (R) is false
(4) (A) is false but, (R) is correct . (

21.  Which of the following are the characteristic features of communication 2:
(a) Communication involves exchange of ideas, facts and opinions. .
(b) Communication involves both information and understapd_}né:
() Communication is a continuous process. \1 k‘ ( - ’1"
k]

(d) Communication is a circular process.

(1) (a), (b) and (c) (2)
(3)  (b), () and (d) (4)

22. The term ‘grapevine’ is also known (
(1) Downward communicﬁica (2) Informial communication
(3) Upward communicatien (4) Horizontal communication
<4
23.  Which of the followifg isnot a principle of effective communication ?

(1) Persuasivé and cony cing dialogue  (2) Participation of the audience

(3) a One-w!iy' ansfer of information (4) Strategic use of grapevine

N

24.% In communicatiofi, the language is :
(1) *The verbal'code (2) Intrapersonal
o

(3 " The symbadlic code (4) The non-verbal code

25. The"ext term in the series is :
-
2,5, 9,"39, 37, ?
73 75 3) 78 (4) 80

(1) (2)
oo [ HMHRCRMIRITRA 1
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20. AfWRYT (A) 3l g @fia SR ot e = ifew |
T (R) ;A 1 ST T U g 3R e e ¢ |
(1) = (A) 3R (R) T € IR (R), (A) 1 T& T<HTT

2)  THI (A) 3R (R) ¥ €, T (R), (A) FT HE TR0 T |
3) (A) ¥ g, T (R) IEA B .
() (&) 7T, TG (R) T ‘f":.
21. frefafea & @ & gwoo w1 fagwand &2 ; ﬁ:ﬂ
(a) TEU ¥ faur, qeall o Hal 1 eTeH-YeH Wi ¥ -
(b) EEITO H AT SR FHSA S| WA B | _ .L
(c) TEIYU T Tad UhHAT R | 1
(d) TEIYO TE T TR B
= feu o @ ¥ T I A1 = aﬂﬁnz
(1) (a), (b) R (a),
@) () © aﬁ? (a),
22, ‘YverEd’ (IrEerdr) veg TR @fw‘wﬁ%ﬂwg‘%
(1) 9 1 &R ¥=R AR AN
(3) SR I N AR U. (4)  afas guR
23. ﬁmﬁf@ﬁﬁ@aﬁquiaﬁqﬁwaﬂﬁqmﬁr%?
(1) WW? fagem@icaress sl (2) et s 9rier
<0 (3)) I 1 CenRgIwI ST (4) TTETE H1 WHEITTH ITAN
a
24.(1:@@11 H e BT
@) A 72 (@) st
@f v (4) TR Fe
25. w\&a?w T ST HE&AT 1 Bt 2
2,5, 9'&9 37,2
73 75 (3) 78 4) 80
||H|H||||!|||H||\|H\||\|H|I\IHIIHII\|||!H|||\||!|!||H\|||\HH||! 1 2
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26. In certain code MATHURA is coded as JXQEROX. The code of HOTELS will be :
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
27. One day Prakash left home and walked 10 km towards south, turned right and walked
5 km, turned right and walked 10 km and turned left and walked 10 km. How many km will
he have to walk to reach his home straight ? 1
(1) 10 (2) 20 (3) 15 (4) 30 'a ‘:
V. % / ’ /
28. A girl introduced a boy as the son of the daughter of the father of hergiincle. The Poy is
related to the girl as :
- |
(1) Brother (2) Uncle (3) Nephew < ¥ & Son"
i,
. ;
. f
29. In an examination 10,000 students appeared. resbt revealed tLe number of students
who have : '
passed in all five subjects = 558
passed in three subjects only = 140
passed in two subjects only = 1200 ; /
passed in one subject only “4 1735 r &
failed in English only < T %
failed in Physics only ‘ _j = 145 f
failed in Chemistry only ™ = 140
failed in Mathematias o}llgz = 200
i 2%\
failed in Bio-science ({'dy p = 157
The number of students passed in at least four subjects is :
(1) p 6300 v, (2). 6900 (3) 7300 (4) 7900
- 4
30. " At present a pergon is 4 times older than his son and is 3 years older than his wife. After
Byyears the age gf the son will be 15 years. The age of the person’s wife after 5 years will
be .
-
(1) 42 J (2) 48 (3) 45 (4) 50
31. If we ‘:*ant to seek new knowledge of facts about the world, we must rely on reason of the
type : ¥
(1) Inductive (2) Deductive (3) Demonstrative (4) TPhysiological
o [LIRHERIRIEAUEEN 1
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26.

27.

28.

29.

ferdt ®e § MATHURA =1 JXQEROX f&fya star §, HOTELS foraer g fsfug g &2
(1) LEQIBP (2) ELQBIP (3) LEBIQP (4) ELIPQB
Tk T ehTer SR @ a1 ® SR <faor § 10 fom A, weran €, <8 gear @ o) 5 R . =eran 8, 3 ge
% 3R 10 for. =, <rran & iR s g 10 f6. 9. =oar &1 T o179 =R wg=m & forw <8 foha fer .
AT IS ? 1

: P
1) 10 ) 20 3) 15 4) 30 "._

V. - |'I
T ASH! A Teh ASHh ol U= ot o a8 39 3ishal & U &1 o2t 1 msehﬁ | ms,ehlafmsqo
Y fegar gan ? »
(1) % 2) siwd () s« f;(fl) e
1
- 4
T 9eT | 10,000 faemeff 931 9den e =ifa forenfe aﬁa@‘ww%
it g fawal § ghal B9 916l i @ ' 583
T fawai 5 Iwat g9 el i & 1400
T foudi § 9% BF STl ohi W& =4 120‘(}
@Wﬁwaﬁmﬁﬁm 4 =r73'5
Wmﬁmﬁwaﬁ H%m =1 75
Wsﬁﬁmﬁmﬁwéﬁhﬁ L 15
Wwﬁwﬁw‘ﬁmﬁaﬁm = 140
Wﬂﬁmﬁwﬁaﬁﬁaﬁaﬁﬂw = 200
EEGECICRCRIEACLE] g STahE T el H HET = 157
1 9 HH AR fIYE § g B ool frentefe w1 e e
<L) 6300 & (2) 6900 (3) 7300 (4) 7900
o

y

30. ' FAE H TE Al e W IR AT 9L § SR YA Ul H 3 1A TS 7, 3 WA o AG IHek oA hi

g 15 5t & | =9 SAfH 1 oA T TG 5 Wil 918 feRa gt 2

31. Afc®H fava & s L] i T2 SIHEHRI UTH A i R L a1 7 § § fhd R 1 96—t
R AT 2
(1) STHATCHS ) TS (3) UEHHR 4) R foAr wrere
oo [1NTARAIAER AN i
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32. A deductive argument is invalid if :

(1) Its premises and conclusions are all false
(2) Its premises are true but its conclusion is false
(3) Its premises are false but its conclusion is true
(4) Its premises and conclusions are all true
. &
33. Inductive reasoning is grounded on : __'" W .|
(1) Integrity of nature (2)  Unity of nature \J JB
(3)  Uniformity of nature (4) Harmony of nature r ! r
- |
T2
34. Among the following statements two are contradlctory to each qthh# Select the correct code
that represents them : : 1 ‘r'

Statements : . y
(a) All poets are philosophers.

(b) Some poets are philosophers.

(c) Some poets are not philosophers.

(d) No philosopher is a poet. r-’/'

Codes :
(1) (a) and (b) ?11* (@) and (c) (4) (b) and (c)

35. Which of the codes glvqn E)elow contains only the correct statements ? Select the code :
Statements : | » %
(a) Venn diagram repl;'es‘_ents the arguments graphically.

(b) Venn am can enhance our understanding.

(,(e) " Venn diagl;%n\r{ay be called valid or invalid.

(d) Venn diagrdm 1% clear method of notation.

Codes :
(1) (@), (b) and (c) (2)  (a), (b) and (d)
()  (b), (c) and (d) 4)  (a), () and (d)
36. When the purpose of a definition is to explain the use or to eliminate ambiguity the definition
is calle
Stipulative Theoretical (3) Lexical (4) Persuasive
||||H||!||H|||\||\|!H||\|H|H||H| I ||!|HIII\II\IHIHNII\IHII\ 1

www.examrace.com



32. U FHmHATHE q 79y Bl § AT

(1) TTF YR a1 R e woft e €
(2) TEF TR A Tcd W R o ¥
(3) TUF YR AT A T Fred T ¥
(4)

4) THEES YR G AR Frowd gt 97 ¥ g

33. SANTHATCHe qeh TeAitehd & A fore WX armenfid § 2 f;
(1) a0 srEvem (2) FFG BT THAT
(3) UHfd I FHETAI (4) UHfd I FHHA j .
‘l

34. FreAferfian wemi 8§ 9 S TH-qw ¥ fave ¥ uﬁ%wm?%waﬂﬁﬁfwaw

U _ -.
(a) et a2 | 7
(b) FD Hfa i B Tl

(c) P Hid IRIH Tl 8 |

(

d) @ o it wfa T8 S

%<
(1) (@) 3 (b) @T((ﬂ ! (4 (b) 3R (c)

35. ﬁﬁ@@ﬁ@mﬁmaammm%v
T : "{

) aqmaaﬁﬂ % w0 § Fefifd e B

b) a'vrdﬂuq A Wm%l

2c) Y S1oE] ST FEl S Hehell T |
) éﬂaﬁ@ wwaﬁ%‘r%

1 “a), (b) @) (@) (b) dR(d)
@Y ) © @) (a), (c) 3R (d)
36. e WRUMET H S99 SYANT H T FIAT I1 STEAA U] GO X KA Bl & a1 Tt qfeqon

e :

O RERCIRED 2) Hsi<w (3) ifsceh (4) TITHRR

o [ HMARCAMIRATA 1 riro.
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Question numbers 37 to 42 are based on the tabulated data given below :

A company has 20 employees with their age (in years) and salary (in thousand rupees per month)
mentioned against each of them :

Age Salary Age Salary
S.No. (in years) (in thousand rupees S.No. (in years) (in thousand rupees
per month) per month).,
1. 44 35 11. 33 30 g
2. 32 20 12. 31 . 35 o
3. 54 45 13. 30 J _j
4. 42 35 14. 37 ( 40 §
5. 31 20 15. 44 ia Vo)
6. 53 60 16. 36 4Ya .
7. 42 50 17. T &84 (4 35
8. 51 55 1847 © 49 ) | 50
9. 34 25 C 4 45
10. 41 30 po. |\ 46 50

37. C(lassify the data of age of each employee in class intezal of Eyears. Which class interval of
5 years has the maximum average salary ?

(1) 35 -40 years (2) 40-45 %&g (3) 44 - 50 years (4) 50 - 55 years
4

i

38. What is the frequency (%) in !1‘. class interval of 30 - 35 years ?
-

(1) 20% (2)  25% (3) 30% (4) 35%
L
1 »
39. What is the average %e of‘t_he employees ?
(1) 403 years‘ (2) ' 38.6 years (3) 47.2 years (4) 45.3 years

40 What is the frac \\0 ) of employees getting salary = 40,000 per month ?
| (1 45% 7 50% 3) 35% 4) 32%

41. What is the avejage salary (in thousand per month) in the age group 40 - 50 years ?

\‘ 42.5 (3) 40.5 4) 36.5

42, Wha't the fraction of employees getting salary less than the average salary of all the
employees ?

(1) 45% 2) 50% 3) 55% 4) 47%

oo [ HMHRCRMIRITRA 1
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U9 WEAT 37 W 42 ek o fed T Soeiiehd 9T WX el § 1
Tk AT | 20 FHARI € 1 361 39 (61 H) 2R 99 (vfd 91 R T3 §) 9 fean mn §

. E2) L] ) =) ELR
U (it | (amrewemad) || () | (v e )
1. 44 35 11. 33 30 « o &
2. 32 20 12. 31 35 f iy
3. 54 45 13. 30 435 " »)
4. 42 35 14. 37 g 7f
5. 31 20 15. 44 - 45 ]
6. 53 60 16. 36 \ 85
7. 42 50 17. 44 J84 % ¥
L :
s AT
10. 41 30 go. [} 4 50
37. WWﬁw%mﬁSaﬁ%WL%aﬁl{%ﬁl g ot oTaa | sifashan
o 3 wefia &2 ¥
(1) 35-40 7% 2 40-455M (3 4§-50 (4) 50- 5594
<
38. 30 - 359t % o wﬁaﬁ‘ﬁl(%) HT?
1) 20% (g){ 25% (3) 30% (4) 35%
< ! 3
39. A=A FT T sqgm %Fr
1) | 40.3 98 i 4 (2} 38.6 (3) 47294 (4) 453 94
40.(ac;‘afwﬁ‘wm%]>v\(%) fd & > 40,000 AT W F T § 2
(1) 45% @) 50% (3) 35% 4) 32%
R ﬂﬂ%ﬁaﬁ'ﬂaw (¥ T TR T ) P 7
(1&35 : ) 425 (3) 405 (4) 365
42, mﬂ;ﬁﬁwmmwmﬁm&ﬁisﬁwéﬂ@wéﬁéﬁ%?
(1) 45% @) 50% (3) 55% 4) 47%
oo [NRIMACAT RGN L
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43. Encoding or scrambling data for transmission across a network is known as :
(1) Protection (2) Detection (3) Encryption (4) Decryption

44. Which of the following is not an output device ?

(1) Printer (2) Speaker (3)  Monitor (4) Keyboard
45. Which of the following represents one billion characters ? Pon. &
(1) Kilobyte (2) Megabyte (3) Gigabyte 4) Terabﬂe i)
- )
\ /
46. Which of the following is not open source software ? , > .
(1) Internet explorer (2) Fedora Linux r | r
(3) Open office (4) Apache HTTP Sfrver g

r

47. Which one of the following represents the binary e’q_ul lent ot{the c‘eamal number 25 ?
(1) 10101 (2) 01101 (B" 110 y (4) 11011

48. Which is an instant messenger that is used f@r chatfing ?
(1) Altavista (2) MAC (3) icgosoft Office (4) Google Talk

49. In which of the countries per Capita use of water is maximul}f' ?

(1) USA 2) Europedn Union
3) China India
&) S { :
50. India’s contribution to total gloféal carbon dioxide emissions is about :
(1 ~3% %) ~ 6% 3) ~10% 4) ~15%
1 #%

51. Two earthquakes A a{ld B appen to be of magnitude 5 and 6 respectively on Richter Scale.
The ratio of the fnergles released Eg/E, will be approximately :

(1) g~ 8 J‘ (2} ~ 16 3 ~32 (4) ~o64
52. § Which of the fol‘l“ﬁg combinations represent renewable natural resources ?
. (1) Fertile soil, fresh water and natural gas

(2) .Clean air, phosphates and biological diversity

(8) g Fishes, fer le soil and fresh water

4 Oll forest and tides

recently launched Air Quality Index in India, which of the following pollutants is not

mclt‘d
(1) Carbon monoxide (2) Fine particulate matter
Ozone (4) Chlorofluorocarbons

||||H||!||H|||H|\HH|
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43. 9% & AR-UR AHYH % fAU ATHS Fl FHedg HET AT TSHE HIAT F1 HEAI § ?

(1) gL (2)  STETHA (3) ISR 4) fomrEm
44. frefafea & 9 wF-9 friw gfe & %2
1) fI= (2) EHRT (3) HiHeX (4) HI-9E
45. freAfafed # @ aF-9 ©F 19 steri &1 yfafafaa #dt €2 P
(1) fepeiramze (2) TETEE (3) fmmarge (4) éw__@! ) |
A\ /
46. frfafEd § 9 & Fe® @d A T8 ¢ 7 r‘ f:
(1) TR TR (2) PENARTR . .
(3) 3lua AffRg (4) U™ T= 21??[ ‘q"k‘gak J ’
47. Frafafed § & a@-@ W HE&AT 25 I <|5{| e ﬁlsw ) g?
(1) 10101 01101 1106‘1 ' (4) 11011

48. aﬁ%ﬂﬂ(%}m)ﬁ;fmﬁ 1 3ee §OsR %ﬁ'cn%
1) el T T MR (4) T ek

49. méﬂﬁqﬁrwﬁﬁwmﬁﬂaﬂw%‘?
(1) JTET

50. FA Afvash Hre ts"lééﬂerwss 313 ‘m’rcr?:h‘r I |q1r1 ST R €2
1) ~3% ~10% 4) ~15%

51. a‘rWAaﬁIBﬁaa%égimzsaﬁmW%m| Seafsid Al 1 ST
(EB/EA)W:@T”? f ‘_,
1 ~8 ‘ @2 ' ~16 (3) ~32 (4) ~ 64

523 fﬁ]}ﬁ'\%fﬁaﬂﬁ;; 7 GAT TehId Uehfdeh TEmeH Yehe il € ?
{0 == i srpfirs e
L) =B am, 7 3R S fafasan
®) mefeal, SR gar iR am 9ia
(

4) 7 74, 51 AR SR

53. m&ﬁméﬁ‘ o7 foF T 1 TuTer geEehis §, fEfafad § @ s ygus afmfad @ fee

1(?;1. ?‘:Eﬁ'vlﬂ“l'rﬁm (2) Heu fafas (Wférgere) uared
3) M (4)  FARIIHTE
oo JIERHAN TR n P10
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54. The factors which are most important in determining the impact of anthropogenic activities
on environment are :

(1) Population, affluence per person, land available per person

(2) Population, affluence per person and the technology used for exploiting resources
(3) Atmospheric conditions, population and forest cover
(4) Population, forest cover and land available per person .
( &
55. The session of the parliament is summoned by : Es )' .|
(1) The President . *
(2) The Prime Minister r r
(3) The Speaker of the Lok Sabha Y - g0
(4) The Speaker of the Lok Sabha and the Chairman of thé"Ra]ya Sabha F
56. Civil Service Day is celebrated in India on : ! y
(1) 215t April (2) 24t April ) 18t June 4) 7t July
57. The South Asia University is situated in the|city of :
(1) Colombo (2) Dhaka (3) N Dell? (4) Kathmandu

58. The University Grants Commission *as‘ES’cablished vﬁ::vhich of the following aims ?
(a) Promotion of research apnd }e,lopment in higher education

(b) Identifying and sustaiginginstitutions of potential learning

(c) Capacity building,‘o teachers

(d) Providing auto my, to each and every higher educational institution in India

Select the correct answer f1om the codes given below :

(1) (@), (), (Hand (d)} (2) (@), (b) and (©)
1) p (), ©% (d) 4)  (a) (b) and (d)
(. ‘\
59.% The Gross Enrolnfent Ratio (GER) in institutions of higher education in India at present (2015)
1s about
8 percent 12 percent (3) 19 percent (4) 23 percent

I&otal number of central universities in India in April 2015 was :
3) 27 (4) 43

-00o0-

oo [ HMHRCRMIRITRA 2

www.examrace.com



54.

55.

56.

57.

58.

e R AHagufas fRasti w1 guE fyifa w0 | S wRe qaifus geay § 2

(1) SHEeE, 9id Safed greadl, gfd safed YfH Suersud

(2) e, 9fd A geaar SR Sl 1 Qe HId o T TN T ST ATt et
(3) THew feufqal, SEEn 3R TSt

(4)

SHE, ISR AR Ufd Sfe fH St
\

o &1 97 freifeRa § § foreeh g1 ofga foran sman € 2 " ‘: .
(1) g 2 ")
2)  WEEE r "F
(3) TRENT T TR - '

(4) ARG T TR T TSHFHT T UL

ya o fafae gfey feag qamen s @ :

(1) 21 A H (2) 24 YA HI 7 TS
T |y i Yfafed frifed § | foa sy
(1) i (2) @RI

ﬁwﬁamawmﬂaﬁ éﬁﬂs‘{sﬁ%g@ﬁmww7
(a) Wwiwaﬁ?mﬁm forenre o o f

(b) EHEARNS AT o7 WA i 9ga Td 3 36 &9 H oA WA o fag
(c) Toershi =1 e Sl

(d) Wﬁﬁﬁ&\(%ﬂ%mwﬁwww%m

freifena e @t @%wwwaﬁm

(1), (@), (b)Y (@) ) (@), (b) 3R ()

3) (b), (o) &R (4)  (a), (b) ¥R (d)
T, (2015)  9RA h1 I e Heensdi § Hehet THiFA U (GER) AT 1 T 2

> (1) =3T3 (8) ::Zm (2) 9RE (12) 9fae@ (3) 9 (19) Wfaw (4) =9 (23) Ufawd
60. S‘%ZOlS o H 3a F=ra favafomes 9 ¢
(1) Yo8 2) 14 (@) 27 (4) 43
F
-00o0-
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Space For Rough Work

4 4
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